Slope
We're familiar with the word "slope" as it relates to mountains. Skiers and snowboarders refer to "hitting the slopes." On the coordinate plane, the steepness, or slant, of a line is called the slope. Slope is the ratio of the change in the y-value over the change in the x-value. Carpenters and builders call this ratio the "rise over the run." Using any two points on a line, you can calculate its slope using this formula. 
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Let's use these two points to calculate the slope m of this line.
A = (1,1) and B = (2,3)
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Subtract the y value of point A from the y-value of point B to find the change in the y value, which is 2. Then subtract the x value of point A from the x value of point B to find the change in x, which is 1. The slope is 2 divided by 1, or 2. 
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When a line has positive slope, like this one, it rises from left to right. 
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WATCH OUT! Always use the same order in the numerator and denominator!
 

It doesn't really matter whether you subtract the values of point A from the values of point B, or the values of point B from the values of point A. Try it - you'll get the same answer both ways. But you must use the same order for both the numerator and denominator! 

You can't subtract the y value of point A from the y value of point B, and the x value of point B from the x value of point A - your answer will be wrong. 
Let's look at another line. This line has a negative slope, it falls from left to right. We can take any two points on this line and find the slope. Let's take C (0, -1) and D (2, -5).
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Line of Best Fit
How does the number of hours spent studying correlate to your grade in math class??

We'll plot the hours spent studying on the x-axis, since it's the independent variable. 

The change in the Math mark is the dependent variable, so it goes on the y-axis. 
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The first thing you notice about the graph is that, while the points are scattered around, they do seem to line up. More specifically, they seem to be getting higher as you move to the right on the graph.

This type of correlation is called weak positive correlation.

- It's a correlation because the points do seem to form a pattern ... in this case, a line.

- It's positive because the points tend to get higher as you move to the right.

- It's weak because, while the points seem to line up, they do so only weakly.

Here is the graph again. We've shown a line that seems to describe the direction the points are heading in. This is called the line of best fit. 

There are methods for determining where this line is, but for our purposes we'll use just two criteria to find and draw the line:

- The line of best fit must more or less follow the direction of the points.

- There should be roughly the same number of points on each side of the line.
